s, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answer:

50, will be treated as malpractice.

1SEE32

terminals p and q.

Electrlc Circuit AnalyS|s
Max. Marks: 80

% g 1 ®
VotexAnswer any FIVE full questions, choosing ONE full question from each module.

Module-1
Derive the expression for, (i) A —Y-transformation
(1) Y — A transformation (08 Marks)

Find the current I in 28 Q) resistance by mesh ana1y31s for Fig. Q1 (b).

F1g Ql (b) (08 Marks)

Gy, OR "
Use nodal analy51s to find the value of “Vi’ in the circuit shown in Fig. Q2 (a), such that
current through (2 + j3)Q impedance is'zero?

Fig. Q2 (a) (08 Marks)

A series RLC circuithas R=2 Q, L =2%H and C = 10 puF, Calculate Q factor, bandwidth,

the resonant frequency and half power frequencies. - (08 Marks)

variable resxstance and vanable ! (08 Marks)
For the network shown 1 1 i as seen from

(08 Marks)

Fig. Q4 (a) ' (08 Marks)
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Using Millman’s theorem, find the current through (2 + J3)Q 1rnpedance for Fig. Q4 (b).

(08 Marks)

= (08 Marks)

In the circuit shown in Fig. Q5 (b) sw1tch ‘K’ is moved from Position 1 to 2 at t = 0, steady
4 5

~ d
state condition havmg reached b fore switching. Find 1, EE and ——l att=0".

(08 Marks)

In the cn‘cult shown in Fig. Q6 (a) initially switch ‘K’ is kept open for long time. At t=0
switch K is closed. Obtain expression for current in the c1rcu1t for t > 0 . Find the value of

current at t = 0.25 sec. What will be the current in the eircuit in one time constant period?
Determine the instant of time at which the current m the circuit reaches 1.2 A?

o Fig. Q6 (a) Ly (08 Marks)
In the circuit shown in Fig. Q6 (bw)m»xs\;rvitch K is closed at t = 0, find the values of 1, 1, 4

5

d2' 2z
—c—liz—, ~—]23~>~and 51_1_22_ att=0"
dt -~ dt” dt
e “» Fig. Q6 (b) (08 Marks)
Module-4
State and explam initial value and final value theorems. (08 Marks)

Find the Laplace transformatlon of function shown in Fig. Q7 (b).

Fig. Q7 (b) (08 Marks)

2 0f3
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OR

s*+5
s(s® +4s + 4)

(@)

(08 Marks)
Using Laplace transformation, determine the, current in the circuit shown in Fig. Q8 (b),
when switch ‘K’ is closed at t = 0. Assume zero initial condition.

Ny an

P B = i
WD
Fig. Q8 (b) G (08 Marks)

. Module-5 ‘
An unbalanced 3-phase 4-wire star connected load, ‘has balanced voltages of 208 V with
ABC phase sequence.: Calculate the line currents and the neutral current.

Z,=10Q ; Zy=15230°Q, Z,=10£-30°Q (08 Marks)
Define Z and Y parameters? Obtain-hybrid parameters (h parameters) in terms of

z-parameters. (08 Marks)

Determine the Y-parameters of the networks shown in Fig. Q10 (a).

F1g Q10 (a) (08 Marks)
What are poles and zero’s? What are the properties of poles zero with pole-zero plot?
: (08 Marks)
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